Source of Questions — IIFT 2008 (Set C)

Verbal Ability Section:
IIFT question NO 27 (Set C)

Had the President's Administration not lost the vote on the budget
reduction package, his first year in office would have been rated an A.

(A) Had the President's Administration not lost the vote on the budget reduction package,
his first year in office would have been rated an A.

(B) Had the President's Administration not lost the vote on the budget reduction package,
it would have been rated an A.

(C) If the President had not lost the vote on the budget reduction package, the
Administration's first year in office would have been rated an A.

(D) Had the President's Administration not lost the vote on its budget reduction package,
his first year in office would have been rated an A.

Original Question :
(source- http://www.novapress.net/gmat/grammar.html)

Had the President's Administration not lost the vote on the budget
reduction package, his first yvear in office would have been rated an A.

(A) Had the President's Administration not lost the vote on the budget
reduction package, his first year in office would have been rated an A.
(B) If the Administration had not lost the vote on the budget reduction
package, his first year in office would have been rated an A.

(C) Had the President's Administration not lost the vote on the budget
reduction package, it would have been rated an A.

(D) Had the President's Administration not lost the vote on its budget
reduction package, his first year in office would have been rated an A.
(E) If the President had not lost the vote on the budget reduction
package, the Administration's first year in office would have been
rated an A.



IIFT question NO 29

The rise in negative attitudes toward foreigners indicate that the
country is becoming less tolerant, and therefore that the opportunities
are ripe for extremist groups to exploit the illegal immigration
problem.

(A) indicate that the country is becoming less tolerant, and therefore
that

(B) indicates that the country is becoming less tolerant, and therefore
(C) indicates that the country is becoming less tolerant, and therefore
that

(D) indicates that the country has become less tolerant, and therefore

Original Question :
(source- http://www.novapress.net/gmat/grammar.html)

The rise in negative attitudes toward foreigners indicate that the
country is becoming less tolerant, and therefore that the opportunities
are ripe for extremist groups to exploit the illegal immigration
problem.

(A) indicate that the country is becoming less tolerant, and therefore
that

(B) indicates that the country is becoming less tolerant, and therefore
(C) indicates that the country is becoming less tolerant, and therefore
that

(D) indicates that the country is being less tolerant, and therefore

(E) indicates that the country is becoming less tolerant of and
therefore that



IIFT question NO 28

This century began with war brewing in Europe, the industrial
revolution well-established, and a nascent communication age.

(A) war brewing in Europe, the industrial revolution well-established,
and a nascent communication age.

(B) war brewing in Europe, the industrial revolution surging, and a
nascent communication age.

(C) war brewing in Europe, the industrial revolution well-established,
and the communication age beginning.

(D) war brewing in Europe, the industrial revolution well-established,
and saw the birth of the communication age.

Original Question :
(source- http://www.novapress.net/gmat/grammar.html)

This century began with war brewing in Europe, the industrial
revolution well-established, and a nascent communication age.

(A) war brewing in Europe, the industrial revolution well-established,
and a nascent communication age.

(B) war brewing in Europe, the industrial revolution surging, and a
nascent communication age.

(C) war in Europe, the industrial revolution well-established, and a
nascent communication age.

(D) war brewing in Europe, the industrial revolution well-established,
and the communication age beginning.

(E) war brewing in Europe, the industrial revolution well-established,
and saw the birth of the communication age.

IIFT question NO 30 taken from

Source :-
http://books.google.co.in/books?id=prEEPzP2SjUC&pg=PA531&Ipg=PA
531&dg=Due+to+the+chemical+spill,+the+commute+into+the+city+
will+be+delayed+by+as+much+as+two+hours&source=bl&ots=qkc85
tk2P-
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(D)  The studio’s reh'u-spcdi\-e art exhibit refers from
(E)  The studio’s retrospective art exhibit looks back to

(A)  Due to the chemical spill, the commute into the city will be delayed by as much as
hours.

(B) The reason that the commute into the city will be delayed by as much as 2 hours
because of the chemical spill.

(C)  Due to the chemical spill, the commute into the city had been delayed by as much as

hours,
(D) Because of the chemical spill, the commute into the city will be delayed by as much
2 hours.
(E)  The chemical spill will be delaying the commute into the city by as much as 2 hours,
=]
5. l'would certainly rather be here than anywhere else | can think of, accept maybe Paris.
(A) than anywhere else I can think of, accept maybe Paris
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IIFT question NO 13

REQUIEM:
(A) Humility
(B) Prerequisite
(C) Resolution
(D) Reign



IIFT question no 14
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GRE Antonym

REQUIEM:
(A) humility
(B) prerequisite
(C) resolution
(D) reign

(E) hiatus

Written by Madhur on May 28th, 2007 with 9 comments.
Read more articles on .




Reasoning Section:

Surprisingly there were 11 questions in this section, which
carried an uncanny resemblance to 6 reasoning questions from
CAT 2002 and another 5 reasoning questions from CAT 2003
(November). It seems that someone just changed the name
and little bit of data, and replicated those questions in IIFT
2008 paper. In few cases, the options were also exactly
matching, which is very surprising again.

CAT 2002 DI Section:

9. Three children won the prizes in the Bournvita Quiz contest. They are from the schools: Loyola,
Convent and Little Flowers, which are located at different cities. Below are some of the facts
about the schools, the children and the city they are from.

I. One of the children is Bipin.

II. Loyola School’s contestant did not come first.

lll. Little Flower’s contestant was named Riaz.

IV. Convent School is not in Hyderabad.

V. The contestant from Pune is not from Loyola School.

VI. The contestant from Bangalore did not come first.

VIl. Convent School’'s contestant’s name is not Balbir.

Which of the following statements is true?
a. 1st prize: Riaz (Little Flowers), 2nd prize: Bipin (Convent), 3rd prize: Balbir (Loyola)

b. 1st prize: Bipin (Convent), 2nd prize: Riaz (Little Flowers), 3rd prize: Balbir (Loyola)
c. 1st prize: Riaz (Little Flowers), 2nd prize: Balbir (Loyola), 3rd prize: Bipin (Convent)

d. 1st prize: Bipin (Convent), 2nd prize: Balbir (Loyola), 3rd prize: Riaz (Litttle Flowers

Compare the question mentioned above with IIFT 2008
paper SET C, Q No. 68, as mentioned below
Three Children won prizes in the ‘Tech India Quiz’ contest. They are from three schools:

Lamcer, Colombus and Leelavati, which are located in different states. One of the
children...........



CAT 2003 (November) DI Section:

DIRECTIONS for Questions 16 and 17: Answer the questions on the basis of the information
given below.

The Head of a newly formed government desires to appoint five of the six elected members A, B,
C, D, E and F to portfolios of Home, Power, Defence, Telecom and Finance. F does not want any
portfolio if D gets one of the five. C wants either Home or Finance or no portfolio. B says that if D
gets either Power or Telecom then she must get the other one. E insists on a portfolio if A gets
one.

16. Which is a valid assignment?

a. A-Home, B-Power, C-Defence, D-Telecom, E-Finance.
b. C-Home, D-Power, A-Defence, B-Telecom, E-Finance.
c. A-Home, B-Power, E-Defence, D-Telecom, F-Finance.
d. B-Home, F-Power, E-Defence, C-Telecom, A-Finance.

17. If A gets Home and C gets Finance, then which is NOT a valid assignment of Defense and
Telecom?

a. D-Defence, B-Telecom.

b. F-Defence, B-Telecom.

Defence, E-Telecom

B_
B-Defence, D-Telecom.

d.
Compare the question in the set mentioned above with
IIFT 2008 paper SET C, Q No. 71 — 72, as mentioned
below

Director of an institute wants to distribute teaching assignments of HRM, Psychology,
Development Studies, Trade Policy and Finance.............



CAT 2003 (November) DI Section:

DIRECTIONS for Questions 23 to 25: Answer the questions on the basis of the information
given below.

Five women decided to go shopping to M.G. Road, Bangalore. They arrived at the designated
meeting place in the following order: 1. Archana, 2. Chellamma, 3. Dhenuka, 4. Helen, and 5.
Shahnaz. Each woman spent at least Rs. 1000. Below are some additional facts about how much
they spent during their shopping spree.

i. The woman who spent Rs. 2234 arrived before the lady who spent Rs. 1193.

ii. One woman spent Rs. 1340 and she was not Dhenuka.

iii. One woman spent Rs. 1378 more than Chellamma.

iv. One woman spent Rs. 2517 and she was not Archana.

v. Helen spent more than Dhenuka.

vi. Shahnaz spent the largest amount and Chellamma the smallest.

23. What was the amount spent by Helen?
a. Rs.1193b. Rs. 1340 c. Rs. 2234 d. Rs. 2517

24. Which of the following amounts was spent by one of them?
a. Rs. 1139 b.Rs. 1378 c. Rs. 2571 d. Rs. 2718

25. The woman who spent Rs. 1193 is

a. Archana b. Chellamma c. Dhenuka d. Helen

Compare the question in the set mentioned above with
IIFT 2008 paper SET C, Q No. 73 — 75, as mentioned
below

Five woman decided to go for shopping to South Extension, New Delhi. They arrived at the
designated meeting place......



CAT 2002 QA Section:

33. The owner of a local jewellery store hired three watchmen to guard his diamonds, but a thief
still got in and stole some diamonds. On the way out, the thief met each watchman, one at a time.
To each he gave 1/ 2 of the diamonds he had then, and 2 more besides. He escaped with one
diamond. How many did he steal originally?

a. 40 b. 36 c.25 d. None of these

Compare the question in the set mentioned above with
IIFT 2008 paper SET C, Q No. 70, as mentioned below

All employees have to pass through three consecutive entrance doors to enter into the
office and security guard is deploed.....

CAT 2002 QA Section:

45. Daviji Shop sells samosas in boxes of different sizes. The samosas are priced at Rs. 2 per
samosa up to 200 samosas. For every additional 20 samosas, the price of the whole lot goes
down by 10 paise per samosa. What should be the maximum size of the box that would maximise
the revenue?

a. 240 b. 300 c. 400 d. None of these

Compare the question in the set mentioned above with
IIFT 2008 paper SET C, Q No. 69, as mentioned below

Mother Dairy sells milk packets in boxes of different sizes to its vendors. The vendors are
charged Rs. 20 per packet up to 2000 packets in a box. Additions can be made only in a lot
size of 200 packets. Each addition of one lot to the box results in a discount of one ropee
on all the packets in the box. What should be the maximum size of the box that would
maximize the revenue per box for Mother Dairy?



CAT 2002 DI:

Directions for questions 98 to 101: Answer the questions based on the information given
below.

A country has the following types of traffic signals.

3 red lights = stop

2 red lights = turn left

1 red light = turn right

3 green lights = go at 100 km/hr speed

2 green lights = go at 40 km/hr speed

1 green light = go at 20 km/hr speed

A motorist starts at a point on a road and follows all traffic signals. His car is heading towards the
north. He encounters the following signals (the time mentioned in each case below is applicable
after crossing the previous signal).

Starting point - 1 green light

After half an hour, 1st signal - 2 red and 2 green lights
After 15 min, 2nd signal - 1 red light

After half an hour, 3rd signal - 1 red and 3 green lights
After 24 min, 4th signal - 2 red and 2 green lights
After 15 min, 5th signal - 3 red lights

98. The total distance travelled by the motorist from the starting point till the last signal is
a. 90 km b. 100 km c. 120 km d. None of these

99. What is the position (radial distance) of the most motorist when he reaches the last signal?

a. 45 km directly north of the starting point
b. 30 km directly to the east of the starting point
c. 50 km away to the north-east of the starting point
d. 45 Kkm away to the north-west of the starting point

100. After the starting point if the 1st signal were 1 red and 2 green lights, what would be the final
position of the motorist?

30 km to the west and 20 km to the south
30 km to the west and 40 km to the north
50 km to the east and 40 km to the north
Directly 30 km to the east

oo

101. If at the starting point, the car was heading towards south, what would be the final position of
the motorist?

a. 30 km to the east and 40 km to the south

b. 50 km to the east and 40 km to the south

c. 30 km to the west and 40 km to the south

d. 50 km to the west and 20 km to the north



Compare the question in the set mentioned above with
IIFT 2008 paper SET C, Q No. 76 - 78, as mentioned
below

In a motor race competition rules are given for the participants to follow. To
control direction and speed of the motorists, guards are placed.............



